
MJ-1189 

B.Com. (Part-1) 
Term End Examination, March-April, 2022 

Paper I 

Financial Accounting 

Time: Three Hours]1 [Maximum Marks : 75 
[Minimunm Pass Marks 25 

Note : Answer all questions. All questions cairy equal 

marks. 

h/Unit-I 

1. 4HTE fqHfairEd T-2AT 1 

12,400 

5,600 
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(2) (3) 

1,600 
(c) Paid rent in advance 1,600 (c)4TE1 3f4 fT 

1,400 (d) Paid for repair to Chandan Mistry 1,400 

(e) Repair of car, payment not yet made 2,000 

2,500 
2,000 ) Payment of cash for petrol 

300 (g) Bank charges 

2,500 2,300 (h) Rent earned but not received 

300 (i) Rent received in advance 2,700 

3,650 () Paid salary to Sushil 

2,300 
379T/ OR 

2,700 

3,650 

Journalise the following transactions in the What do you mean by Accounting Concept ? 

books of Manohar: Explain various accounting concept. 

chI^/ Unit-II 

(a) Salaries due to clerks 12,400 
2. Hd JT À31 4rd, 2021 2. 

(b) Outstanding wages 5,600 
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(6) (7) 

From the books of 'Saket Traders the the Entires have yet to be passed 
following 

for the 

following Trial Balance has been prepared on 

31st March, 2021: (a) On Ist October, 2020 Plant worth 

F10,000 was purchased on credit but not 

entry has been passed. Sales 3,00,000 
Purchases (Adjusted| 

(b) Outstanding Expenses Rent 1,93,500 Reserve for 

23.250 doubtful debts 

7500, by Stock A/c) 

2,500 Salary 600. Wages 
Carriage on Interest on 

(c)Prepared Expenses: Insurance 250, 

purchases 18,000| Investments 700 
Wages F 400. 

Cash Discount 4,500 

625 Capital 

600 Creditors 

Prepared Insurance 

71,175 (d) Goods worth 2,750 were taken for 
1.4.2020 

personal use by the owner but no entry 

has been made. Bad debts 18,750 

Rent and Insurance 7,750 Outstanding 
(e) Write off depreciation on Plant and 

Furniture@ 10% per annum. 13,500 wages 1.4.2021| 
37,500 
20,500 

Salary 900 

Debtors 
)Write off 7 500 from debtors and 

maintain the reserve for doubtful debts Stock 31.3.2021 

Investment 10,000 @4% on remaining debtors. 

Cash 10,500 
Accrued Interest A/c 
31.3.2021 

Prepare Final Accounts considering above 

adjustments. 
300 

3reraTOR 
Furniture 10,500 
Plant of factory 50,000| 
Income Tax 2,000| 

3,98,525 3,98,525 

(Turn Over) 
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(8) (9) 

(a) The purchase of F 800 from Ram was 

GTAI TS entered into sales book while Ramn's 
Personal account was rightly credited. (a) TH T 800 1, fa T5 

(6) The sales of 7 860 to Mohan was 

fsz f T credited in his account as ? 680. 

(c) The sales of old furniture of F 1,080 was (b) HTEA 1 7 860 t fast 3H Td 

680 z 7 TI credited to sales account as 900. 

(d) Goods worth 7 200 were taken by the (c) T R F 1,080 fast fas 
aT T900 fse proprietor for his personal use which was 

not recorded in the books. 

(d) 200 1 4 4Tfr 
()The sales of 592 to Ashok was entered 

in sales book as 538. 

) Sales returns book balance of 7 420 was 
()34IT 592 f4si f4 

H 7 538 fa f7 71 
not included in the account. 

) fasi TH TAT F 420 T 35T/Unit-III 

3. 1 3T, 2012 R 4NtA 
The Books of Avi Gupta could not be tallied. T T 2,00,000 T 1 , 2013 
The accountant transferred the difference of 

57 10,000 3ATR 1 , 2013 
F 2,540 in the Suspense Account on the debit 

side. The following mistakes were found later 
on. Rectify these errors by passing Journal 
Entries and prepare Suspense Account 

7 20,000 74 4Nit 5 I1 T9T, 
2012 fT HwiA 61 JKH H T 30,000 

7 3 1 TT, 2014 7 16,000 a 
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(10) (11) 

diminishing balance method should be 
charged with retrospective effect since Ist 

April, 2012. Show the Plant and Machinery 
Account from Ist April, 2012 to 31st 

fs 1 3a 2012 

51 y fa T 271 31 HT, 2015 1 7 March, 2015. 

HUaTOR 
3774R 209% a d 1 37, 2012 gT 

1yf 1 3, 2012 31 

(a) aT6 

(b) yT The book value of Plant and Machinery on 

Ist April 2012 was 2,00,000. New 

machinery for * 10,000 was purchased on 

Ist January, 2013 and for7 20,000 on 
(e)fafrz 

Ist October, 2013. On lst July, 2014 a 

machinery whose book value had been How you will represent following items in 

the books of non-trading institutions? 30,000 on Ist April, 2012 was sold for 

T16,000 and entrie amount was credited to (a) Annual Subscription 

Plant and Machinery Account. Depreciation (b) Entrance fees 
had been charged @10% p. a. on the book 

value on 1st April, 2012 on Straight Line 
(c) Life membership fees 

Method. It was decided on 31st March, (d) Sale of fixed Assets 

2015 that depreciation 20% p. a. on (e) Specitic Donation 
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(12) 
(13) 

F5T/Unit-IV 

fm-fa à 3H 7 600 

aftei afrai3HR 7 4.5460 I FM 

A Ltd. purchased a plant for 7 22,730 on 
the Instalment Payment System. The first 
payment is to be made at the time of 
taking delivery of the plant and the entire A man bought a machine from Hire-Vendor 
payment is to be completed by four more 

equal annual payments. The vendor charges 
interest@5% per annum. Depreciation is 
charged @ 10% per annum on the Reducing 
Balance Method. Open the necessary 
accounts in the books of the purchaser. The 
present value of rupee one invested at the 

beginning of each year for five years at 5% 

on hire-purchase method. He paid F 600 cash 

down, 640 at the end of the first year, 7 890 

at the end of the second year and 7 880 at 

the end of the third year. The interest on the 
cash price is 10% per annum. Write up the 

Hire-Purchaser's Account in the Books of the 
Hire-vendor. 

per annum according to annuity table is 
37eraT OR F 4.5460. All the instalments including the 

first payment are of equal value. A faf4E à Ta AI T 22,730 fH 

61/Unit-V 

5. X, Y, z v HIaR À 7:2:1 
377417 TY HTEA A I 31 4I, 2019 

151 fufa-faa fifa 
fahdl 5% yfa ad z1 7 T TAI 
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(14) (15) 

aifar TIRT (c) Z, A faftg in 7 15 ufa in 

()_ () 
11,2103f�rsty 1,210 (d) B ffrzg An TATY UTA T 

faftat7 
X 12,410 100 3i7 A' 

Y 8,650 fuE AA T2,400 
Z 80,620 1,01,680|1000 3ivT "B X, Y, Z were in Partnership sharing profit in 

the ratio 7:2:1. The Balance Sheet of the fim feHfues TA 10,000 
as a 31st March, 2019 was as under HR 8,740 

Liabilities Amount |Amount 
() 

Assets 
11,240 (F) 
20,000 Creditors 11,210 Bank 1,210 
11,220 Capitals: Investments 

10,000 X 12,410 100 shares of 

38,080 Y 8,650 A' Ltd. at cost 2,400 

1,12,890 ,12,890 Z 80,620|1,01,680 1000 shares of| 
B' Ltd. at cost| 10,000 

Debtors 8,740 

(a) X * 31,500 a1 Stock 11,240 
Buildings 20,000 (b) Y 19TR Tq TE fa, Plant 11,220 

q2uz 7 30,000 77T IVZ I 
Goodwill 10,000 

Patents 38,080 

1,12,890 1,12,890 

63_JDB_X_(16) (Continued) 63_JDB_*_(16) (Turn Over) 



(16) 

It was agreed to dissolve the partnership and 

the tems of dissolution were 
(a) X to take over the buildings for 7 31,500. 

(6) Y who was to carry on the business to 

lake over the goodwill, stock and debtors 

at books value, the patents at 7 30,000 
and Plant at F 5,000. He was also to pay 
off the creditors. 

(c) Z to take over the shares of A Ltd. at 

F15 each. 

(d) The shares of B Ltd. will be divided in 

profit sharing ratio. 
Prepare the necessary Accounts regarding the 
dissolution in the books of the firm. 

372raT OR 

What is amalgamation of firm? What entries 

are made to close the books of the old firms 
and to open the books of new firm ? 

63 JDB_X_(16) 2,680 
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